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QUESTION 1

iISCSI (Internet SCSI) the encapsulated SCSI commands and data transmission over TCP / IP protocol.
A. True

B. False

Correct Answer: A

QUESTION 2

SATA argument about the correct yes:

A. ATA to SATA transition from serial to parallel shift.

B. ATA to SATA transition from parallel to serial shift

C. SATA and ATA command set used in a completely different set of instructions.
D. The above statement is not correct.

Correct Answer: B

QUESTION 3

The number of disk RAID group members do not recommend too much, for example, more than 20 members of the disk
RAID, only 8-9 blocks performance ratio (the number of recommended disk RAID5 members) Low disk RAID group
members, and the RAID group fail during operation probability increases.

A. True

B. False

Correct Answer: A

QUESTION 4

S5000T during maintenance, HyperTerminal tool through which port to enter the CLI interface ()
A. Maintenance serial

B. 1Gb iSCSI host ports

C. Management network port

D. SAS PRI

Correct Answer: A
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QUESTION 5

Wang conducting create RAID, he chose five FC hard disk, create a RAID5; then choose four SATA hard drives to
create a RAID10, finally he chose two SATA disk as a hot spare, the following statement is correct: (Choose three)

A. Two years later, the system appears a SATA hard disk failure,the system can be restored RAID10 hot standby
redundancy

B. Two years later, the system appears an FC hard disk failure,the systemcannotrecover RAID5 hot standby
redundancy,the disk needs to be replaced as soon as possible

C. RAID10 up to two hard disk failure,data may remain intact
D. This hot standby configuration scheme is the cheapest effective solution because cheap SATA hard drive prices

Correct Answer. ABC
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